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Section : General Intelligence and Reasoning

Q.1 ©w fAfda e urar , feel at home' H1 '424' F T H Heds a1 96T ], "check the
laundry’ 1 '537' ¥ U H Hedg 5T SITaT @ 3R 'open the door' B '434' & =4 #
Feds fhaT STaT 81 I UTHT & ‘the kite is flying’ B fHH UBR Beas war wmem?

Ans X 1.3251
o 2.3426
< 3.2315
X 4.4362

Question ID : 26433067774
Status : Answered
Chosen Option : 2

Q.2 el # 4 39 T $1 994 ST R & 7€ et & §u a8t Jdy 8, o g8y
T R T T ) S b fu R
(FYe: st el R HIs off withar 3% uew sl # fyuifora fae fam, qof wwemasit
WE B )
(3,2, 35)
(1, 4, 65)

Ans X 1.(6,8,224)
X 2.(3,2 31)
¢ 3.(7,2,351)
X 4.(5,4,41)

Question ID : 26433069246
Status : Answered
Chosen Option : 3

Q.3 fuferfEa & ¥ H1F- I=m & 18 Joft § usfag (7) F R W 3 gHdl 872
29, 33, 2, 113, 369

Ans X 1.54
& 2.49
X< 3.55
X 4.51

Question ID : 26433068330
Status : Answered
Chosen Option : 2




Q.4 3T ey BT ag BN oY AT U U<l & 99 98 H7 o) Fiefa sear g P saaa

Ans

STt eI # o § 1
1- Kinglet

2- Kingship

3- Kingdom

4- Kinsfolk

5- Kingly

X 1.3,1,2,54
& 231,524
X 3.1,3,25,4
X 4.1,3,524

Question ID : 26433079457
Status : Answered
Chosen Option : 2

Q.5

Ans

Three statements are given followed by three conclusions numbered I, Il and IIl.
Assuming the statements to be true, even if they seem to be at variance with

commonly known facts, decide which of the conclusions logically follow(s) from the

statements.

Statements:

All tomatoes are peas.

Some peas are potatoes.

All potatoes are fruits.
Conclusions:

|. Some tomatoes are potatoes.
Il. Some fruits are potatoes.

lll. Some peas are fruits.

< 1. Only conclusions | and Il follow.

«” 2. Only conclusions Il and Il follow.

/< 3. Only conclusions | and Il follow.

25 4. All conclusions follow.

Question ID : 26433070403
Status : Answered
Chosen Option : 2




Q6 v FR F A GET agEr A 3R Fer S g e # @
W AE Far @ em?

Ans

VINODA AG

Question ID : 26433080553
Status : Answered
Chosen Option : 3




Q.7 In the following question below are given some statements followed by some
conclusions based on those statements. Taking the given statements to be true even if
they seem to be at variance from commonly known facts. Read all the conclusions and
then decide which of the given conclusion logically follows the given statements.
Statements:

I. All A are R.
Il. AllR are C.
Conclusions:
I. All A are C.
Il. Some R are A.
lll. NoCisR.

Ans X 1.Both conclusions | and Ill follows
25 2. All conclusion follows
2< 3. Both conclusions Il and Il follows

«” 4. Both conclusions | and Il follows

Question ID : 264330104946
Status : Answered
Chosen Option : 4

Q8 TRAXxBHTISEfFA BHTRTME A-BFTASEF A BB AR A-BITASE
& A, B o1 uTE ®, @Y Frafefaa & @ o9 91 sioe g Fed #xar g, 7% P, R #1fUar 82

Ans  1.PxQ=R
X 2.PxR=+Q
K 3.P+QxR
X 4PxQ-R

Question ID : 264330104995
Status : Answered
Chosen Option : 1

Q.9 fuferfEa & ¥ #19 I1 3ieR-TyE < ¥ e § uyfg (?) F RIH W AT?
MBTN, KCSP, IDRR, ?, EFPV

Ans & 1.GEQT
X 2. GEQU
X 3. GERT
X 4. GEQS

Question ID : 26433065952
Status : Answered
Chosen Option : 1




U0 frv oo Rreedt & @ 3T FFE F TTT B A A IpE-oEer #
eAfRET (?) & T T AT T 27

Pl |20 ?

Ans

X
NI

Question ID : 26433080507
Status : Answered
Chosen Option : 3

Q.11 I faped o1 Ig7 PIRTE St TR g A N TR Jafta & o TPR a1 g Tgad
Wﬁmﬁa%m@ﬁaﬁqﬁ%ﬁm&‘r%wﬁwmaﬁqaﬁ?wﬁ
SER/ESTIRER] BT YWAT P ATYR R TH go¥ § Jafra 7Y foran Sn 7nfge)

IR : PICAT :: Page : ?
Ans 1 TRIGA

X 2.gPhsl

X 3. e

X 4. PleT

Question ID : 26433067812
Status : Answered
Chosen Option : 1

Q.12 foE 7Y Yef #1 AFYdS ITTT HY 3R IH AT 1 994 $v, N 94-R0g (2) )
wfeafua 3|
gl ufe: 18, 9, 27
¥t ufd: 40, 36, 140
st dfe: 40, 13, 2
[e: mﬁaﬁmmmﬁﬁmﬁamﬁm quf Tt uR nfvrdg wfeang it
ST T1RT | IeTeRvT & g 13 - Tty Tfrane SR % SisAae AN ST §ifs 13
T fpar oI qPar 81 13 B 1 3R 3 W fyurira &= iR fie 1 3R 3 wR niforedta dfgrand
B P Al T 81

Ans 7 1.25
< 2.54
< 3.45
< 4.53

Question ID : 26433069124
Status : Not Answered
Chosen Option : --




Q.13 IR 3eR-THE 3T U & R & & st 7 e ave | v § ok u& erma 21
I SR HER-TYE FT TG B |

Ans 7 1.GED

2 2. MKI

X 3.8Q0

< 4. YWU

Question ID : 26433068503
Status : Answered
Chosen Option : 1

Q.14 13T 7T 3 gl 3 MUy # R deaq R Fufefad & ¥ o4 91 afieu I8 78)
B2

—-dYT +

Ans X 1.12-4+11x3+8=28

& 2.20x8-4+2+7=50

X 3.35-5+8+4x3=3

X 4.10+8x6-4+2=20

Question ID : 264330105122
Status : Answered
Chosen Option : 2

Q.15 wm P 999 Piforg, oY St I Ydy &1 FARegor Har 81, &) Gy Ru U sy

F arfreae 1
ﬁﬁm@ﬁa&qﬂm@%mﬁmmaﬂ%@ﬁ?m%mﬁﬁv@mﬂﬁaﬁ
TRITRER] B HBI F YR W IRER Fefird 7Y g1 91fu)

ot : gz
Ans X 1.9QT:9d
2. ATl o
3Tyl
X 4. greft - ufyai

Question ID : 26433068415
Status : Answered
Chosen Option : 2

Q.16 T® Afd e YT §, "EAGER’ @1 'AEHRE' 3R ‘GIRLS' F1 'IGSSL’ & = ¥ fora wirar @
| 33t e U1 H ISSUE’ & foh wepR | foram simam2

Ans X 1.ISTUE
X 2.ISSEU
« 3. SITEU
X 4.ISTEU

Question ID : 26433069571
Status : Answered
Chosen Option : 3




Q.17 fr M 3 g ) WER geem R Fafaf@a & @ o an arfieor wd 78 ghme?
—dYT x

Ans X 1.11+6x3-8+2=5
K 27x8+4+2-6=11
K 3.5-6x3+16+4=231
& 4.7Tx2+27+9-4=18

Question ID : 264330105125
Status : Answered
Chosen Option : 4

Q18 séor 3 Fovemrare MIN' o Tt 9, Rw e R 3w A W qdor SRR @7 s
M
sdw 97 3 q a
N
Ans

xig d € V3 whe
x2g p € Vawhe
xsgd € Yo wbhe
vs6 p € V@ whea

Question ID : 26433070254
Status : Answered
Chosen Option : 4

Q.19 T 3gepH faar T B, o | v ue g 21 T e fawenl # 9 98 9%t fawew g, st
SSh Y B R B
LMR, PUA, TCJ, XKS, ?

Ans X 1.ARA
« 2.BSB
X 3.CcMQ
< 4.SMR

Question ID : 264330104812
Status : Answered
Chosen Option : 2

Q.20 @3t & fAww TYg &1 994 B (W <: JBS FI 3P Jued (P! A fqurima fre

3, gof wemsit R wfthard frearfea @Y el @i Serevor 13" - 13 W s o
1% 13 ® SisA/aeHIATU HeAT 31fe fa S w@Har 31 13 1 1 9k 3 § dis ok ok
fi5¥ 1 3R 3 WR N <At A 31 srgafa T8 )

Ans X 1.(550 —545 —540 )
2 2. (405 400 —395 )
« 3. (700 —690 —685 )
X 4.(620-615-610)

Question ID : 264330105080
Status : Answered
Chosen Option : 3




Q.21 Tfordig g & 39 W& HaeH o1 agq B O e T+ R F ®—A W ITWA W
o T wfieRor wgfera g1 wrem|
25*5%10%2*13

Ans X 1.+ - + =

K 25%-,=
K 3ox - =
v4_+’+,—,=

Question ID : 26433068565
Status : Answered
Chosen Option : 4

Q22 Gy e anefa o1 A0 FITE o € s ongf o0 S Y B =0 H vl g2 € (orpfa S g
HTHRI 21

) \\‘
Ans

<1
/”ﬂ‘i\“x

X 2.
R~

« 3.
A~

< 4.

Question ID : 26433068905
Status : Answered
Chosen Option : 3

Q.23 IF feed &1 7g= $¥ vl T TEr A I yoR Tafta & R 7oR gas T g
eI @ Aafia § ok o) wer uiedl e @ H&fia 21
687 :612::713: 7 ::621:546
Ans 7 1.638
X 2.674
75 3.656

&< 4.662

Question ID : 26433067906
Status : Answered
Chosen Option : 1




Q24 'A@B FTAYR'A, BHIUCM T
'‘A&B B3I R A, BB TS
A#B FTATEB, AT
IRIK#ELEM@N#P 8, a1 P, K I [ UoR Jafta g2

Ans X 1. foar
2. IO
X 3.0
XA

Question ID : 26433068459
Status : Answered
Chosen Option : 2

Q25 3g yfa & =0 FT A ooa FPla-Y@N F TeAREA (?) F FF W H@H?

ERENIERE

Ans
X1
A |
A
o 2.
|
A
< 3.
]
X 4. A
I

Question ID : 26433065979
Status : Answered
Chosen Option : 2

Section : General Awareness

Q.1 YRT H HH-I TSP T 96 1943-1963 & dIF TSP fIBTH PRIHH PT Ugar vard A2
Ans X 1. TGS GSH TIoHT

o 2. TR TSH Tl
X 3. 91 9SS dIoHT
X 4. 90 98P sl

Question ID : 26433090759
Status : Not Answered
Chosen Option : --




Q2 e frawt 1 Te T § R el 3 & v 9@ ot Al g <o

fraremar gl
Ans X 1. fadg®
2. SfquE
X 3.7
X 4. A1t

Question ID : 26433086760
Status : Answered
Chosen Option : 2

Q.3 TG BT GodH HgYg 5 O eI F THBTA UT?
Ans X 1. ICIRRIS

o 2. NG T
X 3. i fadl
X 4. TSIRTST U4H

Question ID : 264330105440
Status : Not Answered
Chosen Option : --

Q4 2012 % fore TeRTe ®) Fufafed d S 59 Reer S e fFa mn are
Ans X 1. ifid ACH SPBIGH [RDBR

o 2. TS hed RER

X 3. TR R

X 4. TH Bl EBR

Question ID : 26433090702
Status : Answered
Chosen Option : 1

Q5 fwfafad syl & @ HH-1 FY= I8 872
Ans 1. 5d U BT S B
2 2. 919 U Sifdes e B
% 3. 5 B Had U & AR B B
X 4. 9 T IR-AdHRONT FHIEH B |

Question ID : 26433082218
Status : Answered
Chosen Option : 1

Q.6 IEmHTE AR T q
Ans X 1.3 %

X 2. fofewr iRt

o 3. Taurdt

X 4. Tofec®

Question ID : 264330105565
Status : Answered
Chosen Option : 2




Q.7 Which of the following is commonly known as Quicklime?

Ans X 1. CaCly
X 2. Ca(OH),
« 3. CaO
X 4. CaSOy

Question ID : 26433066467
Status : Marked For Review
Chosen Option : 3

Q.8 fufafaa # @ frw urdt wifta Fdzre A 2022 # tRedH seAvqd fibed bieeqa &
T SRR TR R ure fFar?

Ans X 1. IdIY AREUH
X 2. 3T SRR
o 3. STERIS
X 4. TSR {HHA

Question ID : 26433054475
Status : Not Answered
Chosen Option : --

Q.9 Which of the following players is associated with boxing?
Ans X 1. Archana Kamat

/< 2. Hima Das
/< 3. Monica Batra

«” 4. Lovlina Borgohain

Question ID : 26433071537
Status : Answered
Chosen Option : 4

Q.10 T¥S gRT 7397 3R 744 ST TR 59 a9 iy fre e 42
Ans X 1.1990

< 2.1995
< 3.1989
o 4.1992

Question ID : 26433064834
Status : Answered
Chosen Option : 4

Q.1 IF FARY fF WRedta Atg 7o eft @t wfaare® g2
Ans X' 1. WddTeH

& 2. PUS

X 3. BYUHl

X 4. anfeh

Question ID : 26433054328
Status : Marked For Review
Chosen Option : 4




Q12 U R femad_ Rl
Ans X 1. T3

X 2. @R

3.9

X 4. formom

Question ID : 264330105465
Status : Answered
Chosen Option : 3

Q.13 3[TR 2022 ¥, TS 19 3N SARUBTRGT HATTd FIRT "SMILE-75 Uga” Y= B1 78 At
Y YIS ST IE-A FT1 8?2
Ans  p 1. 30 ERNHW R TRUTDT &1 1 FRAT- Yo ST |
X 2. TOBMREeH & e H st 7 F g
X 3. TS F HHESR avlf b1 e 3R UFRIef0r ver R
X 4. YR § gt 3R et Afganstt & forg Serenrur davst H GUR TRAT

Question ID : 264330105304
Status : Answered
Chosen Option : 1

Q.14 Fgfifad # @ e19-a1 $-oradd o1 oy T8 872
Ans X 1. g aTE At
X 2. U fadwedl & Judsdl
3. eI B Mazghdrsit & forg <R | ufafhar
2 4. TG §9d 3R I | B

Question ID : 26433064523
Status : Not Answered
Chosen Option : --

Q.15 9 2015 H TSI TART F W R BT 15 forar T YTi
Ans X 1. YRd gfaeget sman

X 2. A % BR BRI SRR TS SqaUie (NaBFID)
3. Fifd SmaT
X 4. Mfee ifa affa

Question ID : 26433090754
Status : Answered
Chosen Option : 3

Q.16 3Me 2022 & AP URMTEA & IFHTAT & 1T PM REPR & g fva giern &1 9o+ fan
TT?

Ans X 1. ®Rd
X 2. 9t STl o uetsdt
«” 3. UDAN

X 4. 7% s sfea

Question ID : 264330105303
Status : Answered
Chosen Option : 3




Q.17 fafafaa & § $19 91 v S Qe § frT®T T CH30C6Hs 8, Tt SuaiT 37,
iy IR femas & wu & forar wmar 32

Ans X 1. UfFaH
X 2.l
3. U
X 4. TR

Question ID : 26433064071
Status : Answered
Chosen Option : 4

Q.18 i+t deg Fiefarh, &7 i, aHT af qd YRt SuasTdiu & Sy A
Ans X 1.1700

2 2. 1100
3. 1400
< 4. 2000

Question ID : 264330105190
Status : Answered
Chosen Option : 3

Q.19 Fufafad & Q 19 91 ux] Yeza- SweT § urdn AT 82
Ans X 1. &P TR

X 2. TREE

« 3. T TS TRIR

X 4. TRERE W

Question ID : 264330105663
Status : Answered
Chosen Option : 3

Q.20 Where and when will the fourth edition of the Winter Youth Olympic Games be held?
Ans X 1.2024 Nanjing

< 2.2026, Dakar
«” 3. 2024 Gangwon
< 4.2023 Buenos Aires

Question ID : 26433059413
Status : Answered
Chosen Option : 2

Q.21 2011 F} FTTUFT & FTAR HRA BT TGY $H TR AT 5T HIFT AT 2
Ans X 1. 3RSUES U

2. Rifdsy
2 3. Tar
X 4. ATTAS

Question ID : 264330105535
Status : Answered
Chosen Option : 2




Q.22 Identify an example of decomposers that are found in the bottom of a pond.
Ans X 1. Jellyfishes

o 2. Flagellates

% 3. Phytoplankton

< 4. Zooplankton

Question ID : 26433087873
Status : Answered
Chosen Option : 2

Q.23 Where is the Sair-E-Gul Faroshan festival held?
Ans 7 1. Delhi

X 2. Shimla

< 3. Mumbai

X 4. Mussoorie

Question ID : 26433074079
Status : Marked For Review
Chosen Option : 2

Q.24 m%wzozzﬁ#mﬁamﬂgsmﬁq(NCGG)%%ﬁ%mﬁ%wﬁﬁr@rﬁgﬁﬁvm
T R?

Ans X 1. 309 §8@

X 2. ydg Hsd

& 3. WRd AT

X 4. RUTR

Question ID : 264330105324
Status : Answered
Chosen Option : 2

Q.25 SN F G HaPfadftex o # fRrar simar umi
Ans 1. TERA 91

X 2. wyal

X 3. Yo

X 4. T

Question ID : 264330105405
Status : Answered
Chosen Option : 3

Section : Quantitative Aptitude

Q.1 A 3R B s ol 1 o1 50 R R wpa €19 A, B 40% FUFA S, AT A
AP A B HIF 60% B HI fbar - & 1 H= Apar 82

Ans 7 1.80
< 2.110
< 3.105

X 4.70

Question ID : 26433081073
Status : Answered
Chosen Option : 1




2 it fudl & el O H G B i fbg W fhun

faug
aefferam | FEer 2al o

A 54 &5 67

B 52 83 78

¢ 43 48 57

D 41 g7 50

E 74 70 55
Ans X 1. E
&2 C
X 3D

K 4.A

Question ID : 26433080383
Status : Answered
Chosen Option : 2

as o sina=2 M sinB =22 §, fl sin (A~ B) BT HI 491 G2

Ans 32
b O I e

45

13

@ 2
85

Question ID : 26433061937
Status : Answered
Chosen Option : 2

Q4 From the circumcentre L. of AXYZ, perpendicular LM is drawn on side YZ. If
ZYXZ = 60°, then the measure of ~/YLM is:

Ans X 1. 120°
<2 180°
< 3. 9p°
4. 60°

Question ID : 26433083069
Status : Answered
Chosen Option : 4




Qs #=r & 2 arferr @ e hifew it AR fZT ITT qeAt & sav Sifew

ger gfietoit Fr TEm aifsfeT S [@Reer ¥ e At Hr gwm
RS 14000 12% 20%
f=-r} 12000 8% 12.5%
T 10000 12% 16%
e 10000 1% 15%

FR & oI5 A & AR e o F wew suer Sitefes & #?

Ans X 1.3

X 2. |

X 3.3cdl

R

Question ID : 26433087396
Status : Answered
Chosen Option : 4

Q.6 TP BT H 49 BT BT 3T HR 39 kg & | ITH A AT ST 3T YR 40 kg §, F&T BIS
23 T 3R 37 Td BT T 3T IR 54 kg B, BT F T 81 ST & | H&T BT 791
3T HR (kg ¥) fpaT 82

Ans X 1.42
< 2.39

& 3. 41
X 4.40

Question ID : 26433063769
Status : Answered
Chosen Option : 3

Q7 AP IR Q RIS R T W TH G BT 3R ToH1 T Sl 8| S7& e S 918
PHT: T 3R S d% UgaA A 39 P &) 4 °e 48 e 3R &7 Q &1 3 e 20 fire 19wy
AT 81 A 39 P Pt 911 45 km/h B, 9 37 Q T ITA AT 872

Ans X 1.55km/h
25 2.50 km/h
« 3.54 km/h
5 4.48 km/h

Question ID : 26433073112
Status : Marked For Review
Chosen Option : 1

Q.8 O fIYS PQR &7 3id:¥% 1 Tfe HI0T POR = 140 f&7 ], a1 HIoT PQR FT B2
Ans 1. 140 TSl

X 2. 70 f&h

X 3.40 &

< 4. 100 f&2ht

Question ID : 264330105843
Status : Answered
Chosen Option : 4




Q.9 fruferaa & & a3 I 2, 3 3k 5 A faursT 82
Ans X 1.2456732

X 2. 5467760
X 3. 1345678
o 4. 2345760

Question ID : 26433075225
Status : Answered
Chosen Option : 4

Q.10 TP gPTHER 22,750 F 3iftrd Yeu arel uS! WX <l Hilw ge ar g1 &t ¢ ugel ge 10% &
| 9fe UTE® U F AT 22,103.75 BT WA BT 8, a1 g Qe fpail 82

Ans @1 15%
<2 30%
<3 12%
<4 10%

Question ID : 26433076180
Status : Answered
Chosen Option : 1

QM Tl o @e 99 2012 & e Rffe Tswl 3 99ea W wh e & @9 & gEar gl
& & T @ = ¥49,62,000

a4 2012 & <R fafis ae # odes u o
491 & W ) quld are 21¢

T=a D1 3 D4 97 @=r & 7€ U, D2 3t D8 X ¥ & 15 T @ Fhae 3= 32

AmS X 1. 21.78.960

<2 %1,97,890

« 3 T1,98.480

< 4 F1,89,760

Question ID : 26433082672
Status : Answered
Chosen Option : 3
Q.12 1 1
RK+—=3 t&t — +K° mramsnd?
K K3

Ans X 1.54

< 2.10

o 3.18

X 4.36

Question ID : 264330105919
Status : Answered
Chosen Option : 3




Q.13 % fayfaemay & qeaeTay ¥ 1fvE, Wiaet ok T g #1 e @1 §ens : 5: 9
* T §1 31 Q&I W BURT: 10%, 5% 3R 5% B §iG B &1 ywa1d 81 3fF & a1g
gﬁgmmmmm?

Ans X 1.189:115: 117
/5 2.37:47:83
X 3.212:117 : 47
& 4.176: 105 : 189

Question ID : 26433074956
Status : Answered
Chosen Option : 4

Q.14 A 3R B F} Id0 g & S BT 3UTd H: 2 : 3 1 5 I TG, ITH 3G & Fa HT
ST 3 : 4 TN THHH | B Tt 3G FIT 82

Ans X 1.20TY
X 2.25T9
& 3.15T%
X 4.10Td

Question ID : 26433065078
Status : Answered
Chosen Option : 3

Q.15 & = gty # AB = DB 3T AC = DC ¥ wfy £ABD = 58" 3T 2DBC = (2x —4)°, 2ACE = (y + 15)° AT 20CE = 63° ¥,
a1 2x+5y = AW &
A

Ans X 1.259
& 2.273
< 3.268
X 4.325

Question ID : 26433075334
Status : Not Answered
Chosen Option : --

Q.16 FTTWIT 2 : 3 : 5F AFUTd & & 3R IADT TLAH TG (LCM) 90 & | ST TgH
JHTIGAS (HCF) T PIforg|

Ans X 1.9
X 2.1
< 3.6
& 4.3

Question ID : 26433074251
Status : Answered
Chosen Option : 4




Y T IFT T T P

l.100°—99%24+98% —97?24+962-9524+942-93%+ ..+
22— 12 ST ATA5050 &l

I afy 8x+§=-16 AT x<0 &, ar x197 +x197 &r

A= 2 2l
Ans X 1.1duT I gl

X 2.%aq i

X Ag g

o 4. Fad|

Question ID : 264330105959
Status : Marked For Review
Chosen Option : 1

Q.18 TP B P! Rs.2,78,000 § S TR TP SIAR Bl 25% PT A1H BT &1 TS ATH P g
18% @ fean Sran €, &Y faspa gea ghm:

Ans X 1.Rs.2,65,432
X 2.Rs.2,72,432
/< 3.Rs.2,60,432
o 4. Rs.2,62,432

Question ID : 26433063694
Status : Answered
Chosen Option : 4

Q.19 HTYROT TSl TR 2640 Y Y=RTIR 2 a9 A €832 B SIelt & | HILURUT TSI B1 FHM &% W 4
Ty § 2860 foha! B SITET?

Ans X 1.31,426
X 2.31,150
 3.31,376
X 4.31,250

Question ID : 26433082398
Status : Answered
Chosen Option : 3

Q.20 9fe v THarg Ays & yoir 20 A, 3, 9@ STST SAwa w72
A" 0110043 da2

X 2.200.f3 qaA2
X 31103 a2
X4 1253 a2

Question ID : 264330105820
Status : Answered
Chosen Option : 1




Q.21

Ans 1.4
X 2.3
X 3.2
P

TfE tanA + cotA =2, T 2( tan? A~ cot? A) B HF JTd HIT|

Question ID : 26433062675
Status : Answered
Chosen Option : 1

Q.22
afe

sin 6 5
Ans 1.5
X 2.2/5

X 3.1/5
X 4.4/5

(l—cosB}zl 2 @ (1+cosB)

ging

BT HE T ERM?

Question ID : 264330105892
Status : Answered
Chosen Option : 1

az A +i=g B A_—— 1 T 31T B

Ans X 1.0
<23
& 3.5
X 4.4

Question ID : 26433075034
Status : Answered
Chosen Option : 3

Q.24 &) 7ig aiipfa 7, o wUfel apcQ ¥ 0 O ABcD TG €1 12 AB = 16 cm &, ff S &% BT 4EB T
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Question ID : 26433065014
Status : Marked For Review
Chosen Option : 2
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Question ID : 26433085472
Status : Answered
Chosen Option : 2

Section : English Comprehension

Q.1 Select the correct passive form of the given sentence.
People speak Cantonese in Hong-Kong.

Ans X 1. Cantonese was spoken in Hong-Kong by people.
«” 2. Cantonese is spoken in Hong-Kong.
5 3. Cantonese was spoken in Hong-Kong.

/< 4. Cantonese is being spoken in Hong-Kong.

Question ID : 264330104551
Status : Answered
Chosen Option : 2

Q.2 Choose the incorrectly spelt word.
Ans X 1. Dubious

25 2. Nefarious
«” 3. Consumate
25 4. Professional

Question ID : 264330104740
Status : Answered
Chosen Option : 3




Q.3 Rearrange the parts of the sentence in correct order.
According to the report,
P. the 2021 projections reflect growing
Q. recognition of climate change issues
R. and the importance of nuclear power in
S. reducing emissions from electricity generation

Ans X 1.PSQR
< 2.QPRS
& 3.QRSP
« 4. PQRS

Question ID : 264330104693
Status : Answered
Chosen Option : 4

Q.4 Rectify the sentence by selecting the correct spelling of the underlined word.

| would never ascociate with such a person.
Ans & 1. associate
< 2. accosiate
2< 3. assosiate

X 4. asosiate

Question ID : 26433065147
Status : Answered
Chosen Option : 1

Q.5 Select the most appropriate collocating word to fill in the blank.

After having understood the ill effects, he said he would drinking alcohol.

Ans X 1.terminate
75 2. close
< 3. finish
& 4. quit

Question ID : 26433070450
Status : Answered
Chosen Option : 4

Q.6 Select the most appropriate ANTONYM of the given word.
Polite
Ans X 1. Sober
< 2. Civil
«” 3. Rude
< 4. Decent

Question ID : 26433060896
Status : Answered
Chosen Option : 3




Q.7 Select the most appropriate ANTONYM of the underlined word in the context of its
meaning in the sentence.

A few chocolates were left after the Halloween'’s trick or treat fair.
Ans X 1.stayed

X 2. present
o 3. finished
& 4. right

Question ID : 26433061041
Status : Answered
Chosen Option : 3

Q.8 Select the option that can be used as a one-word substitute for the given group of
words.

A speech made without preparation
Ans X 1. Deliberation

«” 2. Extempore
75 3. Rhetoric

/< 4. Spontaneous

Question ID : 26433072547
Status : Answered
Chosen Option : 2

Q.9 Select the most appropriate option to fill in the blank.

The patient was from the hospital.
Ans X 1.letout

o 2. discharged
< 3. liberated
X 4. released

Question ID : 26433087938
Status : Answered
Chosen Option : 2

Q.10 Select the most appropriate synonym of the given word.

Remorse
Ans X 1.Slow

«” 2. Repentance
< 3. Liberate
& 4. Affinity

Question ID : 26433072196
Status : Answered
Chosen Option : 2




Q.11 Select the most appropriate ANTONYM of the underlined word.
The number of tests conducted dropped further on Saturday with a total of 67,624
tests of which 20% were the less precise rapid antigen tests.

Ans X 1. Adequate

/< 2. Complicated
/< 3. Inevitable
«” 4. Rough

Question ID : 26433061560
Status : Marked For Review
Chosen Option : 1

Q.12 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution’.

We live in a populated country of 120 million people.
Ans X 1. congested
o 2. populous
25 3. No substitute
25 4.dense

Question ID : 26433073902
Status : Answered
Chosen Option : 2

Q.13 The question below consists of a set of labeled sentences. Out of the four options
given, select the most logical order of the sentences to form a coherent paragraph.
P. Many deadwood beetle species recycle the nutrients of woodlands.
Q. Some deadwood beetles are predators or parasitoids to other insect species and
restrict population growth of potential pests.
R. Others have recently been found to be pollinators.
S. Working alongside fungi, bacteria and other invertebrates, they break down dead
wood and return the nutrients back to the soil.

Ans 7 1.PSQR
X 2.QPRS
X 3.RPSQ
X 4.PRQS

Question ID : 264330104698
Status : Answered
Chosen Option : 1

Q.14 Select the most appropriate meaning of the underlined segment in the given sentence.
By the end of the football match, feelings had reached fever pitch.
Ans X 1.in or to many places
/< 2. be extremely serious and worrying
25 3. start well

«” 4. to get so strong that one cannot control them

Question ID : 26433059819
Status : Answered
Chosen Option : 2




Q.15 Select the correct indirect form of the given sentence.
Priya said, “Yes, | am confounded.”

Ans X 1. Priya admitted that she is confounded.
«” 2. Priya admitted that she was confounded.
/< 3. Priya admit that she was confounded.

/< 4. Priya admitted that she was confound.

Question ID : 264330104614
Status : Answered
Chosen Option : 2

Q.16 Select the most appropriate word for the underlined word in the given sentence.

Rajesh was angry at himself for making a silly mistake during the examination.
Ans 7 1. with
/5 2. above
< 3.0n
5 4. for

Question ID : 26433088313
Status : Answered
Chosen Option : 1

Q.17 Select the most appropriate meaning of the given idiom.
To smell a rat
Ans X 1. To learn the smell of a rat
/< 2. To have reason to know the presence of a rat
«” 3. To have reason to suspect

75 4. To know the smell of a rat

Question ID : 26433072217
Status : Answered
Chosen Option : 3

Q.18 Parts of the following sentence have been given as options. Select the option that
contains a grammatical error.

There was no denying the fact / that King Lear confided to / his daughter Cordelia /
more than anybody else.

Ans X 1. his daughter Cordelia
/< 2. There was no denying the fact
5 3. more than anybody else.
«” 4. that King Lear confided to

Question ID : 26433073831
Status : Answered
Chosen Option : 3




Q.19 Parts of the following sentence have been given as options. Select the option that

Ans

contains an error.
She, often, accuses him for a lack of morality.
#< 1. accuses him for
< 2. She often
< 3. alack of morality
«” 4. No error

Question ID : 26433089090
Status : Answered
Chosen Option : 1

Q.20 Select the option that expresses the given sentence in active voice.

Ans

The keys have been forgotten by Jyoti.
/< 1. Jyoti has been forgetting the keys.

o 2. Jyoti has forgotten the keys.
/< 3. Jyoti had forgotten the keys.

< 4. Jyoti will have forgotten the keys.

Question ID : 26433091861
Status : Answered
Chosen Option : 2

Q.21
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Little (1), a year ago, Rama Rao went out of work when a gramophone company, of
which he was the Malgudi agent, went out of existence. He had put into that agency the little
money he had (2) as security. For five years his business brought him (3)
money, just enough to help him keep his wife and children in good comfort. And one day, it
was (4) . A series of (5) in the world of trade, commerce, banking, and
politics was responsible for it.

SubQuestion No : 21
Select the most appropriate option to fill in blank number 1.
/< 1. beyond

# 2. while
< 3. about
o 4. over

Question ID : 26433086509

Chosen Option : 4

Status : Marked For Review




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Little (1), a year ago, Rama Rao went out of work when a gramophone company, of
which he was the Malgudi agent, went out of existence. He had put into that agency the little
money he had (2) as security. For five years his business brought him (3)
money, just enough to help him keep his wife and children in good comfort. And one day, it
was (4) . A series of (5) in the world of trade, commerce, banking, and
politics was responsible for it.
SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.

Ans ¢ 1.inherited
< 2. converted
< 3. gambled
< 4. exchanged

Question ID : 26433086510
Status : Answered
Chosen Option : 1

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Little (1), a year ago, Rama Rao went out of work when a gramophone company, of
which he was the Malgudi agent, went out of existence. He had put into that agency the little
money he had (2) as security. For five years his business brought him (3)
money, just enough to help him keep his wife and children in good comfort. And one day, it
was (4) . A series of (5) in the world of trade, commerce, banking, and
politics was responsible for it.
SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans & 1. enough
X 2. afew
X 3. few
X 4. much

Question ID : 26433086511
Status : Answered
Chosen Option : 2

Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Little (1) a year ago, Rama Rao went out of work when a gramophone company, of
which he was the Malgudi agent, went out of existence. He had put into that agency the little
money he had (2) as security. For five years his business brought him (3)
money, just enough to help him keep his wife and children in good comfort. And one day, it
was (4) . A series of (5) in the world of trade, commerce, banking, and
politics was responsible for it.
SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans & 1. a bolt from the blue
/< 2. asnake in the grass
/< 3. awild goose chase

25 4. abone of contention

Question ID : 26433086512
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Little (1), a year ago, Rama Rao went out of work when a gramophone company, of
which he was the Malgudi agent, went out of existence. He had put into that agency the little
money he had (2) as security. For five years his business brought him (3)

money, just enough to help him keep his wife and children in good comfort. And one day, it
was (4) . A series of (5) in the world of trade, commerce, banking, and
politics was responsible for it.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans

5 1. questions
& 2. circumstances
< 3. lectures

< 4. instructions

Question ID : 26433086513

Status : Answered

Chosen Option : 4
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